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1. Where does the conversation take place?
A. On the phone.
B. At Sue’s home.
C. At the school.
2. Why does the man talk to the woman?
A. Because he hasn’t seen her for a long time.
B. Because he wants to invite her to a dinner.
C. Because there’s something wrong with his phone.
3. What’ s the man’s advice to the woman?
A. To stay at home and look after her mother.

B. To see a doctor as soon as possible.
C. To call him later after the dinner.
W 2 B e, B &S 4—6 &,
4. What are the speakers talking about?
A. Olympic service.
B. Olympic village.
C. Olympic hotels.
5. What doesn’t the Olympic Village supply for the competitors?
A. Accommodation.
B. Medical treatment.
C. Free admission.
6. What can we learn from this conversation?
A. Players can meet their friends there.
B. Only ente;'tainment center is not available.
C. Players will receive the best medical treatment.
W7 3 AR, EESE 79 &,
7. Who is probably speaking?
A. A nurse. B. A dentist. C. An assistant.
— 1 —



8. What is the most important thing the speaker said?
A. Taking a rest.
B. Washing your mouth.
C. Keeping ice on the cheek.

9. What does the speaker say about some bleeding?
A. It is normal.
B. It should stop a half hour.
C. There will be a lot of bleeding.

WP 4 B, BB 10—12 |,
10. How did the man get to McDonald’ s?

B C
11. Where is the Theatre located?
3 g z
§. . = £
5 &:Donal.d' s 3 eF
Hushingtor Ave Nashington Ave
° . = [ g
. ®Post Office McDonald’ s g & 13
Theatre T e &+ =
o @ 8
A B C

12. What can we learn from the conversation?
A. The woman likes cats very much.
B. The woman is always in good shape.
C. The woman is very talky.
WT8E 5 BpH, B &SR 13—15 M,
13. What should one wear on the first day at work?’
A. The most beautiful clothes.
B. Clothes which look neat and clean.
C. The most expensive clothes.
14. How much time should you spend on lunch?
A. About an hour.
B. As quickly as possible.
C. You can learn it from the personnel department.
15. Which aspect is not included in the speech?
A. Talking between co-workers.
B. The way you dress yourself.
C. Working hours.
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A Police Report

What stolen A handbag worth $500 with no (16)______in it

When and where At about (17) in a store

Robber’ s appearance A tall, bearded man with (18)

Generally (19) , but a few people had their
City security situation cameras or wallets stolen; some had their iPods robbed

and had a series of phone thefts.

Suggestions Need to be careful, and avoid (20) in public.
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1.

What are they talking about?

A. An exciting travel.

B. Tibet.

C. A travel plan.

What does the woman worry about?

. A. Weather.

B. Food and water.

C. Traveling information.

. What does the woman plan to do for holidays?

A. She would help the man get some information.
B. To work in the garden to make a path.

C. To go somewhere out-of-the-way.

Witk 2 BRFHe, EES 4—6 &,

4.

What did the man who entered college at 70 become later?
A. An active lawyer.

B. A successful doctor.

C. A highly paid artist.

What is the key of staying young?

A. Go back to school.

B. Pay no attention to one’ s age.

C. Keep one’s mind awake and active.

What kind of idea is it when we say our brain stays young and growing in spite of the
age? ,

A. An impossibility.

B. A foolish idea.

C. A scientific fact.

WS 3 R e, EEE 79,

7.

Why did the woman drink the water in the bottle she was carrying?

— 4 —




A. Because she was thirty.
B. Because she was asked to do so.

C. Because she liked drinking water.

8. How did they go to the campus?
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10. What’ s the relationship between the two speakers?
A. Boss and employee.
B. Husband and wife.
C. Customer and assistant.
11. Why didn’t the man get the fresh lychees at last?
A. Because they were too expensive.
B. Because they were out of season.
C. Because he had no more money on him.
12. How much will the man get his change when checking out?
A $1. B. $2. C. $3.
WrsE S BAE, BIESE 13—15 &,
13. Why doesn’t Anne go out with the other students?
A. Because she’s studying all the time.
B. Because she doesn’t make friends with them.
C. Because they always go to discos and films.
14. When will Anne see the man again?
A. Afier she does all the things better.
B. As s;oon as she joins the volleyball club.
C. Sometime next week.
15. What can we learn from this conversation?
A. Anne lives with her family.
B. Anne doesn’t like sports.

C. The man suggests Anne move into a student residence.
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Riding a motorcycle or not

Advantages

Disadvantages

He spends less money on the journey from

(16) .

He has to wear waterproof clothes on (17)

days.

He can save (18) on the journey.

It’s cold riding a motoreycle in winter.

He doesn’ t have to worry about traffic jams.

If he rides a big and fast one, it is not really
(19) than traveling by train.

He doesn’ t have to wait on the cold railway

platforms for (20) .
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1. Why is Sandy unhappy?

A. Because he has lost his job.
B. Because he didn’t get the job he wanted.
C. Because he missed going to the museum.
2. Who has gone to the museum?
A. The woman and the man.
B. The woman and Sandy.
C. The man and Sandy.
3. Why doesn’t the woman want Sandy to get the job in the larger company?
A. Because it is not a good job.

B. Because he will not be well paid.

C. Because it is so far away from where they are now.

W2 M EES 4—6 Eo

4. Where does the man want to live near?




6. What kind of pet does the man have?

A B
W3 B, mER 79 &,
7. What is the relationship between the man and the woman?
A. Husband and wife.
B. Patient and nurse.
C. Customer and shop assistant.
8. What do we know about the man?
A. He drinks twice a week.
B. He is in poor health.
C. He smokes once in a while.
9. What does the woman think about the man’ s drinking habit?
A. He should cut down on his drinking.
B. He could keep his drinking habit.
C. He should stop drinking completely.
Wi 4 MR, EES 10—12 &,
10. What do you think about Japanese restaurant?
A. The food is a bit highly sweet, though it’ s not cocked well.
B. The food is too spicy, though it’s quite inexpensive.
C. The service is the best, although it’ s the farthest.
11. What do you think of Chinese restaurant?
A. It’ s the cheapest with the best service.
B. The food is the most delicious and it’ s the nearest.
C. The price is not the highest, although it’ s not the farthest.
12. Which kind of food do they choose to eat tonight?
A. The Chinese dishes. B. The Japanese food. C. The western food.
WrsE 5 Bt Et, B 5 SR 13—15 &,
13. What does the speaker mainly talk about?
A. How to give a public speech.
B. How to write a public speech.
C. How to enjoy a public speech.
14. How many things should be considered when making a speech?
A. Four. B. Two. C. Three.
15. How can you make a good public speech?
A. Clearly and honestly.
B. Slowly and happily.
C. Simply and seriously.
— 8 —
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Shopping
The thing to buy A camera
The customer wants to buy Something cheap and (16)
The camera bought Has got a very good lens and it’s all (17)
Thé price (18) pounds
Its color (19)
How much is the change (20) pounds
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1. What is the man doing now?

2. When does the man agree to talk with the woman?
A. Right now.
B. In five minutes.
C. During the break.
WréE 2 BRpbet, E& 53— &,
3. Why are their rooms dirty?
A. Because they were very lazy.
B. Because they were willing to put up with it.
C. Because they had to prepare for the revision.
4. What can we learn from this conversation?
A. The woman never took her clothes to the laundromat ( JE &K JE ).
B. The laundromat is about 500 yards from the man’s room.
C. The man will tidy up his room tomorrow.
WisE 3 Barel, mE SR 5—6 &,
5. What do we know about Bill?
A. He broke the rule of the company.
B. He didn’t work hard in the company.
C. His boss didn’t like him.
6. What will the woman do next?
A. She will give Bill a phone call.
B. She will help Bill to find a new job.
C. She will ask Bill to work for her.
— 10 —
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7. What did they think of the party they had been to?
A. They regretted having been to it.
B. They felt it a success.
C. They were tired of sitting there.
8. What can we learn from this conversation?
A. The man seemed to be more tired.
B. The woman seemed to be more tired.
C. The parfy and the drink made them so tired.
9. Where did the man go once he had got up?
A. To the party.
B. To the kitchen.
C. To the restaurant.
WrsE S R#HE, EEE 10—12 &,
10. How did the man probably find out about Dr. Jonson according to this conversation?
A. A friend referred him to Dr. Jonson’s office.
B. He saw the office on his way home from work.
C. He found Dr. Jonson’s number in the phone book.
11. Why does the man want to see the doctor?
A. He sprained his hand when he fell off the roof of his house.
B. He hurt his knee when a tall ladder fell on him.
C. He injured his ankle when he fell from a ladder.
12. What does the woman suggest at the end of the conversation?
A. The man needs to come into the office right away.
B. The man should put some ice on his injury.
C. The man ought to take it easy for a few days.
W7 sE 6 Bt Et, E& % 13—15 M,
13. What’ s the most popular characteristic in 2006 World Cup?
A. There are many more red and yellow cards given in this World Cup.
B. There are less red and yellow cards given in this World Cup.
C. There are many more countries attending this World Cup.
14. In which year were 22 red cards given?

A. In 1994. B. In 1998. C. In 2002.
15. How many countries were given two reds in this World Cup?
A. 5. B. 6. C. 7.

FZH WRUER

W P E—BUE . EARIEEE H B, WETIT BN A IR B E B, A K
ARG H 1620 MR H . UrREFRT KA 10 BS I ERTRl. REEMEB. KA
80 Bh AR B ]

— 11 —



